ol 7 e

= QA H|18FSK /Al Q= 57,000m/Y

71 A= =23 44
EEHE o 20014 20254
Azlolp ol 94,000 355,530 QAL H A
He|el4 2l 89,300 177,604 M1ists+ 34 =3
a @I m/Y 49,000 49,000
A=
ol X ¢f m/Y 57,000 57,000
Sl
A|ZHRCE | m/Y 78,000 82,000
JYRSE-T-T m/ 57,000 57,000
st4Ki 2| : B3Z A20+BBF A2 N & SEOIIE
— =
3XPX 2| Al M - MDF + UVAE MDF + UVAZ
(S| : mg/L, 7H/me)
. 721 & 2 A=
TE Re | w8 | su | ws | =3
BOD 150 16 209 3 3.0
AA+=E CcOoD 140 16 185 40 15.0
SS 150 14 177 10 35
T-N 35 15 447 15 13.0
T-P 4 2 6.3 0.5 0.4
(SHR| : mg/L, 7{/me)
I8 BOD coD SS T-N T-P
EEAII —_ " o o o L
SHTE 20194 0| 50|38} 400|3} 100|3} 200|&} 20|}
20304 0| 30|38t 150|3} 3.50|8t 130|8} | 0.40|3}
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dATE | 56/010f 8 5 2 1 13 5 - 2
ER/XE Al QA 5 3 - 2 8 3 - 0
ESFXE  287H 4 4 - - 8 2 2 0

71 A + 3 2 - 1 5 2 - 0

M 7 ool | g 6 ] 6 18 4 2 0

A= 44 13 6 3 19 5 1 4

£ 7 332 45 26 13 71 21 5 6
| 35 VERN ZIKClassl)

A5l+E | 6,459,052,295| 3,590,880,760| 2,868,171,535] 50 59 50 86 73

ER/XIE 449,663,110 408,286,436 41,376,674, 50 53 50 57 14

ESX - - - 50 55 50 55 9
71 A 12,707,500 9,360,000 3,347,500| 45 50 45 117 163
H 7| 718,537,560, 297,050,000| 421,487,560| 48 66 48 136 182
a = 198,624,254| 163,465,264 35,158,990 54 59 54 119 121
E A  7.838,584,719 4,469,042,460 3,369,542,259 50 59 50 100 9




